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INSTRUCTIONS TO-CANDIDATES

¥ Do not open this bookiet until you are told fo do S0.

¥ Follow alt instructions: carefully.

v Answer all questions.

¥ Shade your-ansWwérs in the Optical Answer Sheet (OAS) prowded
¥ You are not allowed to use a.calculator.
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' Quest:ons 1to 10 car:y 1 mark each Questxons 11 {01 5 carry 2 marks each.
For each question, four options are given. One: of them is the correct answer.
Make your choice (1, 2, 3or4). Shade the correct oval on the Optical Answer
Sheet (OAS) ) - (20 marks)

1. 12 amultiple of -

(1 6
2 8
3 9

@ 24

2. Sublract 0.26 from 18 tenths.

) 008
2y 08
3y 1.54
@) 1774

3. The figure be!ow shows a cublcal box with a height of 11 cm. What is the
base area of the box?

11 cm

(1} 22cm?
(? 33cm?
(3) 121 em?

4 1331 cm?
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4. What is the best estrmate for the Iength of the eraser‘?

t

LIHIIIIH:IHII.jI_

Oem ‘ 1 3
() t1.2cm.
(20 15cm
(3) - 1.9em
@ 20cm.

5, The figure below shows a packet of milk on the weighing scale. What is
the miass of 2 such packets of milk? _

(h 1080 g
@ 1150g
3y 1200g
4 1250g

SHHK_Prefims 2013_P6 MA_-Paper 1_Booklet A
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6. The f gure below is made upofa rectangle a square and a friangle.
Given that the length of the réctangle is twice its breadth, find.the
perimeter of the whole figure.

écm

(1)
@
3)
(4)

7. The figure below shows two triangles. Whlch one of the following
statements is true about the figure?

(1) Zc+ Zd=«a
() 4b+ Lc=4d
(3} ZLa+ Lb+Zc=180°
@) Zb+ Lc+/d=180°

SHHK_Prelims 2013. P6 MA_Paper 1_Booklet A
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8..  The figure beiow isa net of & cubozd Name two- fa’ces_'df'th'e- cuboid "th,af
are’ oppos:te each other ' _ i ' -

D
A Bl C
«—— base
() AandB
(2} AandD
3y BandD
40 CandD

SHHK_Prefims 2013_P6 MA_Paper 1_Booklét A
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9. : Ameélia was born on the date as shown m the. caiendar beiow Hef cousin,
Ray, was born 10 days before her. What day of. the week was Roy's
bmhday? ‘ ‘

2006
OCTOBER

Tuesday

(1) Sunday
(2) MondayA
(3} Friday
(4)  Saturday

10 Kenny and Dylan each used some letters to make a set of pattems on
rectangular cards as shown below.
They make repeated patterns with the cards created.

Kenny
Katen. | A B C D

Dylan

Which letter will first appear in the same position in both patterns?

(M A
@ B
@ C
4 D

SHHK_Prelims 2013_P6 MA_Paper 1_Booklet A
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11.  There Wé'r,e"'l()'-rr':o&_a"-bo;rsfhéﬁ gxrls at an‘otfing. Each boy was gi\}en 3

12

13.

sweets and each gir was given-4 sweets: A fotal of 156 sweets were
given fo the children. How many boys were there at the oufing?

(n 36
@ 28
3y 18
@ 8

Winnie is n years old. She is 3 times as old as Joyce. Amanda is 4 years

younger than Joyce. How old i Amarda?

(1 =-4

3.
@ - F+4 |
3 3n+4
@ 3n-4

The tablé below shows the éharges for delivering a parcel.

First 50 g [ %150
Every additional 209 or part $1.00
thereof '

Jolin paid $4;50 for the delivery of a parcel. Which one of the .fol‘lowing is
the possible mass of her parcel? -

(1) 150g
(& 115¢g
3) 95g

@ s0g.

SHHI_Prefims 2013_P6 MA_Paper 1_Booklet A

6



14. A rectangularpisce.of paper of perimeter 32 cm was folded once at the
‘two ends o form the shape as shown below. Find the value of w,

- 3cem

E IT-ém

2em w cm
)y 10
@ 8
(3 6
4y 4

15..  The average price of 3 key chains and 2 mugs is $10.50. -
‘The average-pricé of the key chains is $8.50.
Find the average price of the mugs.

(1) $9.00
(2) $2.00
(3 $1250
(4) $1350

SHHK_Prelims 2013_P6 MA_Paper 1_Booklet A
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' Questrons 16 to 25 carry 1 mark each. Wnte your answers in: the spaces
provided. For quest:ons which requure unlts gwe your answers’ in the’ units;
stated. ) , (10 marks)

Do not write
in this space

16.  Find the value of 7 x (10 + 14) — 18+ 9.

Ans:; ‘

17. Draw aline of symmelry for the figure below.

SHHK_Prelims 2013_P6 MA_Paper 1_Booklet B e
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18: The foliowing three sentences desaribe the location of pointX.. | Do not wits

_ o : o 1 in this space
{i} * ~ is exactly on the north-east of point X.

m © s exactly on the South-west of boint X

i) W isexactly on the South-éast of point X.

Mark “X" on the grid map below to indicate the location of point X.

SHHK_Prelims 2013_P& MA_Paper 1_Booklet B
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19, Last year Malcolm was 14 years old and Mrs Tan was' 42 yéars: o!d. R

How old wili Malcolm be when Mrs Tanis n years old?

Ans:

20, Thetable below shows the prices of apples and oranges sold at a
supennarket

_ _ - mcents
-Orange T . {m+5)cents

-Benjamin bought & fruits. He bought the same number of oranges and
apples, How much did he spend?

(Give your answer in terms of m.)

Ans: . _ cents

2.1. Express 0.08 as a percentage.

Ans; ' %

Do not wiite

| in this space

SHHK_Prelims 2013_P6 MA_Paper 1_Booklet B
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22.

60%.of Ryan’s savifigs is equal fo —. of Dean’s savirigs. | Donot write
T : ,10' : s _ " | in this space
Express Dean’s savings as.a ratio.of Ryan's savings ir its simplest - o

form. -

Ans: _-

23,

Marcus bought a packet of potato chips for $0.85 and a chocolate
muffin for $1.40. He-gave the cashier a 35 note. He. received " his
.change all in coins, What is the least number of coins Marcus would |
have received? '

Ans:

SHHK_Prelims 2013 _P6 MA_Paper 1_Booklet B
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24, 5, 06 litres of water is poured mto some 2-E bottles. Each botile is fi fled
to the 2-litre mark except thelast bottle How much water is there in the .

! in this space
last bottle? _ . _ . o

] Do notwrite

2-Lbotlle

Ans: . mt

25. A construction company takes -2— of a year to complete local projects

that it has taken on. Given that eéch focal project requires exacily % :

of a year to complete, how many focal projects has the company taken |
on?’ '

Ans:

SHHK_Prefims 2013_P6 MA_Paper 1_Booklet B
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'Quest:ons 26 to 30 cany 2 marks each. Show your worklng c!early and wnte 5—0 n-g,t ‘,;;ﬂe '

your answers in the spaees provided. For questions which require unis; gwe | in this space

your answer in thé units stated. (10 marks)

26. Water was leakmg from atankina water company The fine graph
-below shows the amount of water in {he tank over a period of: 8 hours.

90

80

60 = - - .\

| Amountof ©9 T—— = - -
‘water LI BN 2
{Litres) 40 ‘ — ; ) vy

7

L B i 2 . . S NUNEUIUS B, {

10.

8.a.m. 10 am. 12 noon 2pm.: . “4pm, '
Time

. Given that the company had to pay a fine of $12 for every 4 litres of
water Ieaked how much fine did the water company pay from 8 a.m. to

4pm?

Ans: $

“SHHK_Prelims 2013_P6 MA_Paper §_Booklet B
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27. The graph below shows the rmass of each |dent[cal contaxner when
- different types. of Marbles A and B are put in. Find the, mass of one .
empty coritainer.

Mass of.
container
with
marbles

s}

.' | " - @®

Ans; o g

SHHK_Prelims 2013_P6 MA_Paper 1_Booklet B
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28.  In the figure below, a rectangular piece of 'pap'ei* was folde_d as shown. . D6 fiot write
Find £ DEB. ' : .

‘i thi§ space

Ans: : : 0

SHHK_Prelims 2013_p6 MA_Paper 1_Booklet B
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29, Am:énda is giﬁen-édnj_e mﬁnéy'to buy sorb'e'péns; She has used % c_if;
her money fo buy 8 pens. If she wants to bty 4 more pens, she will need
another $1.40. What is the cost of 1 pen?

Ans: § . . .

30. The rafio of the amount of water in Tank X fo the amount of water in
Tank Y was 1 : 4 at first. When 35 t of water was transferred from
Tank X {o Tank Y, the new ratio l?ecame 1 : 9. How much water was in
Tank Y atfist?

Ans: ' 1

End of Paper 1

Do not write
In this space

"SHHK_Prelims 2013_P6 MA_Paper 1_Booklet B
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_ _ Do not wiite
provided for each question-and write. your answers in the spaces provided. | in this spdce

Questions 1to 5 c':_a{r'ry 2 marks each: Show your working clearly :in the space: .

For questions which reqguiire units, give your answers in the unifs stated.
| {10 marks)

. Iﬁ the square grid below, two sides of a parallelogram ABCD have |
. been drawn. '

{a) Complete the drawing of the parallelogram ABCD.
{b) CB also forms one side of a triangle in which £ CBE is a right.
angle and CB = BE. Compléte. the drawing of the triangle CBE
“within the grid.

SHHK_Prefims 2013_P6 MA_Paper 2




2. . | The f‘ gure befow shows 2 :denttcat squares. Lmes AF FB EF and FG
© are of the samé |ength ‘The shaded adrea is 50 em?, Fmd the area of

the unshaded parts

Ans: ' cm

3. Some chairs were fined up in a row from one end o the other end of a

field at an equal spacing of 1.3 m apart. When a few chalrs were |
removed, the remaining 6 chairs had to line up from one énd fo the |
‘other end of the field at a new equal spacing of 2.6 m apart How {.

many chairs were removed?

Do ot write
in this space

SHHK_Prelims 2013_P6 MA_Paper 2




4

Jordan has a. rectangular board that measures 15 cm by 11 em.

He- uses 35 identical squate tiles to cover the board leaving an-area of
25 o’ uncovered. Find the area of one square tile used

DO not wiité
 in this-space

' Ans:
5.

._cm
The figure below shows a cube. -Given that A, B and C are points at
the corners of the cube, what is £ ABC?

<
-
o

Ans:

SHHK_Prelims 2013 P6 MA_Paper 2




2013 Mathemafics anarv 8 Prehmmarv Paper 2—Emata
‘Name: - = _ : N ‘Date; 23 August 20'13

Class :

For questions.6 to 18, show your working clearly in the space below each
question and write your answers in-the spaces provided.

The number of marks available is showr i in the brackets [ 1atthe end of
each questlon or part-question. . {50 marks) -

6. In a fruit stall, the number of apples was %‘the number of péars’

After some pears-were sold, the number of pears decreased t0 40% of |
the total number of fruits left, There- was 3 total of 600 ‘apples and |

pears left. How many pears were sold?-

Ans:.

3]

SHHK_Prelims 2013_P6 MA_Paper 2
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' “The pie chart below shows the percéritagepf‘mén,' worren, bojs and

girls at a funfair. There were 675 boys at the funfair. The number of
fhen was -} the number of women. 'H_ovi.i many men we_'re there at the;_

funfair? -

Ans: 3]

Doriotvirite
In this space -

SHHK__PreHms 2013_P8 MA_Paper 2




8. the ﬁgu‘r‘é below, ABC is a triaingl‘é, CF and CE are straight lines. Bo nét wrte
. AD=DB, ZADE =130° and / ABF =155°. Find £ x. - inthis space

Ans : ‘ - {3]

SHHIC_Prelims 2013_P6 MA_Paper 2



9. " Inthe figure below, a square is cut irto.3 parts X, Y and Z. The area of 1 Do not write
1 : o . .o T in this space
X is — of the area of the whole square and the area of Y is 1 of the C

. area-of Z. What is the ratio of the area of X {o the area of Y to the area |
" of 22 |

Ans: _ __[3]

SHHIC Prelims 2013 P& MA_Paper 2




10, Aﬁ’erﬁéiﬁgli of his’ p'dt'aiées;-a-food-'-st_all-dwnér bpught':a'nbther’z-'-kg' [ Do hot wiite
‘ 3. _ : _ . - | inthis space
of potatoes. As a result, the stall owner how has gas inuch potatoes

as whathe had st first, Hovr many kilograms of potatoes were there at
first? Co

Ans : 3]

SHHK_Prelims 2013_P6 MA_Paper2




11. Mr Wang drove ata constant -speed’ from Town- A to Town B. D’ o not wiite
A£9.20 a. m., he was 794 km from Town B: and 206 km from Town A. | in this space
At 12:50 p.m., he siopped at a petrol kiosk which was m:dway
_between Town A and Town B. At what speed did Mr Wang drive |
before he redched the petrol klosk?

Ans . _[4]

SHHK_Prelims 2013_P6 MA_Paper2




12.  The f‘ igure below shows wo ldentlca! rectangles wnthm a sem!c:rc!e of D" o fiot write
diameter 10 cm. Ris the centre: of the sem:cnrcie Gwen that ' | in this space
Rectangle PQRSand Rectangle XYZR has a penmeter of 14 cm each '
and line XS i is 1 em. Find the perimeter of the shaded part.

(Correct your answer fo 2 decimal places)

Ans: (4]

SHHIK_Prefims 2013_P6 MA. Paper 2
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13. In thé}' ﬁg{lfe pelow, réctangle ABCDts made up of "f_:’_'.idé'riticé! smaller Do ot w'ri'té‘-
rectangles. S . | in this space

(a) Find the perimeter of ihé,recta_ngle ABCD. =
(b) Find the area of the shaded friangle. -

s
ok
ok
B Fat
I o
147 .

AR
Y

20 ¢m

Ans: (a) _ (31

(b) : (1

SHHK_Prelims 2013_P6 MA_Paper 2
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4. The figure be!ow is made up of a right- angled trrang!e and a circle: Do notwrite
' overlappmg two semicircles. AC is the dlameter of the circle. in this space
(Take 7 =3.14) 17

{a) Find the pefimeter of the shaded_‘-bérts.
(b} Find the total area of the shaded parts. -

Ans: {a) - . 2]

(b) 31

"SHHK_Prelims 2013_Ps MA_Paper2
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15. The ﬁgure below shows a mombus dw:ded into 6 parts wﬂh 3 straight Do not v‘v;ite'
hnes Find the sum of £ x and 2 y. . in this space

274°

Ans : y | 14]

SHHK_Prelims 2013_P6 MA_Paper 2
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16. - ngel had some 20¢ cozns and 59¢-coms He speni % of hlS 20¢ coins

“and 75% of h:s 50¢ coins. The ‘value of 20¢-coins left vias the same
as the value of 50¢ coins left. Given that the difference betweén the |
value of 20¢ coins and the vaiue of 50¢ coins he had at fi rstwas $40
how much dld ngel have atfirst?

T

S‘Hﬂif_ﬁreﬁms 20%3-;?6 MA_Paper 2
14

Do ot wiite -
in this space




'f?. 'ln a shootmg practice, Joel obtalned the scores of 5 7.8 and 9 aﬂer

' sheotmg fout fimes. The hlghest possible score for edch shot Wwas™ 0.'
After another firee shots, Joel's average score bécame 8. Then, he

had ancther three shots and his average score became 8.5.
What were the poss:ble scores forthe last three shots?..

st |2nd [3d [4th. [5th |6t [ 7th | 6th [ 9th .| 10th |

_.Scores 5 T 8 : g -

Ans : , ,

{ Do ot wnte

151 |

{ in this space.

SHHK_Prefims 2013_P6 MA_Paper 2
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18.  Ali, Bent and Calvin coliected stamps in'the ratio 7:4: 9. After Calvin | o niot write

gave % of his stamps to Ali and Ben, Ali had 60 more stamps than . in this space

Calvin and 'B_en’s nu‘mber of stamps increased by 35%.
~ {a) Whatwas the ratlo of Ah s stamps to Ben' s stamps to Calvin’s

. stampsintheend? - _
{b) How many stiffips did Calvin have at first?

Ans:{@___ 3]

(0) : (21

End of Paper 2

SHHIK_Prelims 2013 _Ps MA_Paper2

16






Answer

- -~

- EXAM PAPER 2013

: SCHOOL HOKKIEN PRIMARY SCHOOL :

LEVEL ‘PRIMARY 6

o SUBJECT 'MATHS

" TERM : 'SA2

BookletA

QlQZ :"YQV3, Q4 Q5 ‘. 06 1 Q7 | @8 | Q9 QlO 0111 012 013 .Q14~.Q15j' o1

1 | N

1- 1.3 |3 2 13 |3 |2 3 14 4 (2 1 (3 4 4

16) 166 — g - H

18)
19) n-28 years old 4 . L
'20) 6m+15 cents ——f— e
21) 8% : — ,
22) 2:1
23) 5 coins . |
24) 1060 ml L
25)2

26) $144
© 27) 5009
- 28) 27.5°

29) $ 0.70 . T T
~ 30)2801 - TR t
Paper 2# ‘ ‘ e A uieg
2) 50x2 = 100cm? LT »
3)6-1=5 : o N I
| 2.6x5=13 e , 1
© 13:+1.3=10 e AL . 1
10+1 = 11 . 1 !
' 1146 =5 | AN A
4) 15x11="165 At AT
 165-25 = 140 THH
140+35 = 4 ~LL

5) AC=AB=BC
Triangle ABC i is an Eqwlateral Trlangle,
<ABC = 60°


Answer Keys


6) 100% —> 600 -
40% —> 240 .

_ 60% —> 360 .
' 360+4=90

90x5=450
450-240=210

7) 25% —> 675

100%—> 2700 ..
- 100%-25%-10% = §0°/d L

60% — 1620
1620 + 5 = 324

~ 8) 180-130=50
180-155=25

180-130-25=25

(180-50)+2=65°

9)7+4=11
11 +2=5>5
X:Y:Z

55:7:4

11:14:8

10) 6u —2u-= 4u -
Su—4u = 1u
iu > 2kg
6u > - 12kg

11) 794+206=1000
1000+2=500
794-500=294

9.20am to 12.50pm = 3h30mi

3x2=6
6+1 =7

204 + 8 = 42
42x2 = 84km/h

12) 14-1—1=12
12:4=3
3+1=4
10-4-3=3
s
Sx® X 10 = 1571
- Bx2=10

15.71+10+3+1=29.71icm,

13) a) 20+5=4
20:+2=10
10+4 =14

20+20+14:+14=68 §

ns




by
3 %xié_x 1&%’?{;

14) a)

z o -
E %334 X103 = 15,7
h 3

SX3A4xE =042

SHEIEXE= 1256 |
15.7+9.42+12.56=37.68
b) Hi2 58

—X6xB=24
5 x._ &

SHIMAREKI LN FIA R & x4 = 302

% X314K5 X5 =395
39.25+24-39.29=24

15) 360-274=86
(360-86-86)+2=94

- (360-102-102)+2=78
(180-86)+2=47
360-102-47=211°

16)

25%B - 50%A =0
100%B - 100%A=40
100%B — 200%A=0
100%aA ---40

_ 100%B - 80

"~ 404+80=120

17) 8x7 56
56-5-7-8-9=27
27+3=9

8.5x10 =85 '
85-5-7-8-9-27 = 29
(10,10,9)

18)

A:B:C

7:4:9

70:40:90
3x9=27u

100% —». 40u

B 135% —* 54u-
54-40 = 14u
27u -14u = 13u-



A=70+13=83u
C=90-27 = 63u - .

A:B:C-
83: 54:63_ o

- h)20u —» 60

90u — 270
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